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Cumulative Practice

| ) Which number is equivalent to the
expression below?

3.2°-8+4

- The top of an end table is a square with a
side length of 16 inches. What is the area of

the tabletop?
16 in.
|
} 16in. |
F 16in.? G. 32in.2
H. 64in.? I. 256in.2

2, . You are filling baskets using 18 green eggs, 36 red eggs, and 54 blue eggs.
What is the greatest number of baskets that you can fill so that the baskets
are identical and there are no eggs left over?

A. 3 B. 6
C. 9 D. 18
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{® What is the value of 23 « 32 « 52

. £ You hang the two strands of decorative lights shown below.

Casatenhe  rgrdants

Strand 1: changes between Strand 2: changes between green
red and blue every 15 seconds and gold every 18 seconds

Both strands just changed color. After how many seconds will the strands
change color at the same time again?

F. 3 seconds G. 30seconds

H. 90seconds l. 270 seconds

Point P is plotted in the coordinate plane below.

| |

Co %1 B = PR B

i
|
NN

o = N W

|
|
|
| .
1 2 3 456 7x

(=]

What are the coordinates of Point P?

A. (53) B. (4,3)
C. (3,5) D. (3,4)

‘b . What is the prime factorization of 1100?

F 2X5x%11 G. 22x5%2x11
H. 4x5%2x11 . 22X5X%55
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~7. What is the least common multiple of 3, 8, and 10?

A. 24 B. 30
C. 80 D. 120

8a What is the area of the shaded region of the figure below?

9vd
9vyd 4 yd
4 yd
F. 16yd? G. 65yd’
H. 81yd> . 97yd?

q . Which expression represents a prime factorization?

A. 4X4X7 B. 22X 21X 23
C. 3*X5x%7 D. 5X5X9X11

(C Find the greatest common factor for each pair of numbers.

10 and 15 10 and 21 15and 21

What can you conclude about the greatest common factor of 10, 15, and 21?
Explain your reasoning.
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Cumulative Practice

{O Which number is equivalent to the
expression below?

6X8—2x3%

A.
C. 324

12

D Whatis the greatest common factor
> 0f 48 and 1207

l.lsil'lg estim afi

Mation
Nswer js abomy;“scan hthp the

°'
Choose B U shoylg

| i. Which number is equivalent to 5.139 — 2.64?

F 2.499 G. 2.599
H. 3.519 l. 3.599

{Z . Which number is equivalent to g e g?
A B 2
" 63 " 45
¢ 5 p. 8
" 28 T 20
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{3 . Which number is a prime factor of 5722

A. 4 B. 7
C 13 D. 22

t. Which number is equivalent to 7059 + 301?

F 23 G. 23136
7059
23136 I. 136
301

|S- Asquare wall tile has side lengths of 4 inches. You use 360 of the tiles. What
is the area of the wall covered by the tiles?

A. 16in.? B. 360in.2
C. 1440in.? D. 5760in.?

l'w . Which expression is equivalent to a perfect square?

F 3+22x7 G. 34+ 18 + 32
H. (80+4)=4 L. 32+6x5+3

i} Whatis the missing denominator in the expression below?

4. 2
8

& w

E. whatis 4.56 x 0.72

o
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J ©).The area of the large rectangle is how many times the area of the small rectangle?

4 cm

1.25¢em

3.07 cm

7.25cm

F. 4.4515 G. 5915
H. 17.2575 . 111.2875

\(Ji‘. Which expression is equivalent to 5 X 5 X 5 X 5?

A. 5X4 B. 4°
C. 5¢ D. 5°

Part A How much longer, in inches, is the length of the walkway than the width
of the walkway? Show your work and explain your reasoning.

Part B How many times longer is the length of the walkway than the width of the
walkway? Show your work and explain your reasoning.

: . 7. :
A0, Ameteoroid moving at a constant speed travels 6— miles in 30 seconds. How
far does the meteoroid travel in 1 second?

1 . 11 .
F. —mile G. —mile
5 48

H. 2i miles l. 2061miles
24 4
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A.

;IQ Which number is equivalent to the
expression below?

2+4%+3(6 +2)

F. 25 G. 41
H. 73 l. 105

A3 The tape diagram models the ratio of red beads to green beads in a bracelet.
The bracelet uses 12 red beads. How many green beads are in the bracelet?

Green Beads |

4 green beads B. 8green beads
C. 12 greenbeads D. 20 green beads

9_\-( What is the least common multiple of 8, 12, and 20?

F. 24 G. 40
H. 60 . 120
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29, Which number is equivalent to 2.34 X 1.08 X 5.6?

A. 12.787632 B. 14.15232
C. 235872 D. 14,152.32

6 The school store sells 4 pencils for $0.50. At this rate, what is the
2 cost (in dollars) of 10 pencils?

Qlo. Afactor tree for 14,700 is shown. Which factor of 14,700 is not a perfect square?

14,700
7N\
25 + 588
SN /N
5+5 3 + 196
/N
4 - 49
VANWAN
2 27 7
F. 25 G. 49
H. 196 l. 588

)q’ Which of the following is a ratio of frogs to snakes?

158 Chapter 3 Ratios and Rates




2P, Which expression is equivalent to 3°?

FF. 3X3X3X3X3
H. 5X5X5

G. 3X5

. 3+3+3+3+3

Q4. Which is the correct order of operations when evaluating 5 + 4 X 23?

Add 5 and 4.
Evaluate 2°.

~ne B &

A. ktu
C mkr

Multiply 4 and 8.
Multiply 9 and 8.
Multiply 9 and 2.

ja—
.

o 2 B

u.

Add 5 and 32.
Multiply 4 and 2.
Add 5 and 512.
Evaluate 8°.

Evaluate 18°.

B. n,sq

D. m,pl
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Cumulative Practice

30, - How many pints are in 8 quarts?

A. 2 pints B. 4pints

C. 16 pints D. 32pints

31 -Which fraction is not equivalent to 25%?

1 2
. = G. -
4 5
5 25
H. — b B
20 100

H’ What is the missing value in the ratio table?

Pairs of Shoes 7 56

Pairs of Boots 2 8 16

32 Your friend was finding the percent of a number in the box below.

25% of 24 is what number?
1
25%of 24 = 24+Z

= 96

What should your friend do to correct the error?
A. Divide 24 by 25. B. Divide 7}: by 24.

C. Multiply 24 by 25. D. Multiply 24 by i.

%3, Which percent is equivalent to %?

F. 20% G. 45%

H. 80% . 125%
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3‘4 - Which pair of numbers does not have a least common multiple less

than 100?
A. 10,15 B. 12,16
C. 16,18 D. 18,24

35/ You are comparing the costs of buying bottles of water at the supermarket.
Which of the following has the least cost per liter?

F. 6 one-liter bottles for $1.80
G. 1 two-liter bottle for $0.65

H. 8 half-liter bottles for $1.50

I. 12 half-liter bottles for $1.98

T What is 75% of 362

. . . 5 4
5Q>~Wh1ch number is equivalent to o X 5?

3

A 2 B, 3

27 7

5

C. L D. >

16 3

37-_ Which list of numbers is in order from least to greatest?

F 08, g 70%, 0.09 G. g 70%, 0.8, 0.09

H. 0.09, g 0.8, 70% . 0.09, g 70%, 0.8

196 Chapter 4 Percents




A% Which number is equivalent to 1.32 + 0.006?
A. 22 B. 22

C. 220 D. 2200

2. Which ratio is equivalent to 4 : 142
FE 2:12 G. 10:35

H. 18:28 l. 8:18

\j For a party, you make a gelatin dessert in a rectangular pan and cut the

dessert into equal-sized pieces, as shown below.

The dessert consists of 5 layers of equal height. Each layer is
a different flavor, as shown below by a side view of the pan.

LR A P i s PR BN S A -

3 ]
Your guests eat E of the pieces of the dessert.

Part A Write the amount of cherry gelatin that your guests eat as a
fraction of the total dessert. Justify your answer.

Part B Write the amount of cherry gelatin that your guests eat as a
percent of the total dessert. Justify your answer.

Cumulative Practice
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40 -- The student council is organizing a school fair.
Council members are making signs to show the
prices for admission and for each game a
person can play.

SCHOOL FAIR

Admission $2.00
Price per game $0.25

Let x represent the number of games. Which
expression can you use to determine the
total amount (in dollars) a person pays for
admission and playing x games?

A. 225 B. 2.25x

C. 2+0.25x D. 2x+ 025

'-'> ) . Which ratio relationship is represented in the graph?

4 | | |
7 - '
— d '. !(3, 6)
= [ | |
g 5 [
\3 4 L
5 e
) |
= L1 1A
] (1, 2)
AT ;
0 1 2 3
Sugar (cups)

F. 2 cups of flour for every% cup of sugar

G. 6 cups of flour for every 3 cups of sugar

H. 1 cup of flour for every 4 cups of sugar

o S
Hardcover [Pan rback]
Books - $3 BOOKS - $2

L. % cup of flour for every 1 cup of sugar

K At a used bookstore, you can purchase two types
4 of books.

You can use the expression 3z + 2p to find the ! b
total cost (in dollars) for & hardcover books !
and p paperback books. What is the total cost i1
(in dollars) for 6 hardcover books and ‘Il
4 paperback books?
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L‘ (A » Your friend divided two decimal numbers. Her work is shown in the box

below. What should your friend change in order to divide the two decimal
numbers correctly?

2.0
0.07)14.56 > 7J1 4.56
A. Rewrite the problem as 0.07)0.1456.
B. Rewrite the problem as 0.07)1456.
C. Rewrite the problem as 7)0.1456.
D. Rewrite the problem as 7)1456.
4%, What is the value of 4.391 + 5.954?
F. 9.12145 G. 9.245
H. 9.345 . 10.345
L"" . The circle graph shows the eye color of students in a Eye Color

sixth-grade class. Nine students in the class have
brown eyes. How many students are in the class?
A. 4students

B. 18 students

C. 20students

D. 405 students

3623+ 33-64=36¢+23+64+33

=36+23 + 64 « (23 + 10)
=36+23+64+23+ 64410
=x+23+64+10

What number belongs in place of the x?

240 Chapter 5 Algebraic Expressions and Properties



45 ; What s the prime factorization of 13502

F 10-135 G. 2:3+5
H. 6-225 . 2.3%.52

(e . Ahorse gallops at a speed of 44 feet per second. What is the speed of

the horse in miles per hour?

A. zlmile per hour B. 30 miles per hour

C. 64 % miles per hour D. 158,400 miles per hour

ﬂ-rf' Which equation correctly demonstrates the Distributive Property?

FE. alb+c)=ab+c
G. albb+c)=ab+ac
H a+b+c)=(a+b)+(atc)
l. a+(b+c)=(a+b)+{a+c)

g g . 2
42, Which number is equivalent to 2% -1 ; ?

A 228 B. 2.2
45 35
c 33 D. 4=
5 35

L‘q . Which pair of numbers does not have a least common multiple of 24?

F 2,12 G. 3,8
H. 6,8 . 12,24

M UJse the Properties of Multiplication to simplify the expression in an
@ efficient way. Show your work and explain how you used the Properties
of Multiplication.

(25 X 18) X 4

5" O . Which number is not a perfect square?

A. 64 B. 81
C. 96 D. 100

Cumulative Practice
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1 Cumulative Practice

5 | .You buy roses at a flower shop for $3 each. How many
roses can you buy with $27?

A9 B. 10
C. 24 D. 81

HX. You are making identical fruit baskets using
16 apples, 24 pears, and 32 bananas. What
is the greatest number of baskets you can
make using all of the fruit?

2 G. 4
H. 8 . 16

¥5°3 . Which equation represents the word sentence?
The sum of 18 and 5 is equal to 9 less than a number y.

A. 18-5=9—y B. 18+5=9—y
C. 18+5=y—9 D. 18—5=y—9

5. The tape diagram shows the ratio of tickets sold by you and your friend.
How many more tickets did you sell than your friend?

You r | ] I ] 1 42 total

F. 6 G. 12
H. 18 1. 30

59 +x =112
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55> The steps your friend took to divide two mixed numbers are shown.

33.41_186 3
5 2 5 2
_27
5
5

What should your friend change in order to divide the two mixed
numbers correctly?

A. Find a common denominator of 5 and 2.
. i 18
B. Multiply by the reciprocal of rY

C. Multiply by the reciprocal of 2

D. Rename 32 as Zg.

5‘ (> . A company ordering parts receives a charge of $25 for shipping and handling plus
$20 per part. Which equation represents the cost ¢ (in dollars) of ordering p parts?

F. c=25+20p G. c=20+25p
H. p=25+20c . p=20+25¢c

'#. Which property is illustrated by the statement?
R property y
5(a + 6) = 5(a) + 5(6)

A. Associative Property of Multiplication

B. Commutative Property of Multiplication
C. Commutative Property of Addition
D

Distributive Property

O, What is the value of the expression?

46.8 + 0.156

280 Chapter 6 Equations




6% In the mural below, the squares that are painted red are marked with

the letter R.
RIR|R RIR IR
R|[R|R R|R|R
RIR IR R|R|R
RIR|R|R|R|R
RIRIR|RIR|R
RIR[R RIR[IR
RIR|[R RIR IR
RIR[R RIR|R

What percent of the mural is painted red?

F. 24% G. 25%
H. 48% . 50%

5‘7 Which expression is equivalent to 28x + 70?

A. 14(2x +5) B. 14(5x+ 2)
C. 2(14x +5) D. 14(7x)

Q. Whatis the first step in evaluating the expression?
3.(5+2P+7

F.  Multiply 3 and 5. G. Add5and2.

H. Evaluate 5% I. Evaluate 22.

Cumulative Practice
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: ‘é’ Cumulative Practice

{o)- A cruise ship is carrying a total 0f 4971 people.
Each lifeboat can hold a maximum of
150 people. What is the minimum number
of lifeboats needed to evacuate everyone on
the cruise ship?

A. 33lifeboats B. 34lifeboats
C. 54lifeboats D. 332lifeboats

C;'Z,, Which number is equivalent to
the expression?

3:42 462

F. 27 G. 33
H. 51 . 75

ba‘ A housing community started with 60 homes. In each of the following
years, 8 more homes were built. Let y represent the number of years that
have passed since the first year, and let n represent the number of homes.
Which equation describes the relationship between n and y?

FFE. n=8y+60 G. n =68y
H. n=60y+8 . n=60+8+y
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?,; What is the value of m that makes the equation true?

idm =6

é,l—f, On Saturday, you earned $35 mowing lawns. This was x dollars more than you
earned on Thursday. Which expression represents the amount, in dollars,
you earned mowing lawns on Thursday?

F. 35x G. x+35
H. x—35 l. 35—x

340 Chapter 7 Area, Surface Area, and Volume




& What is the area, in square yards, of the triangle?
=

8 yd

5vyd

. 5 . . 12
5. Which expression is equivalent to Eg?

>
w

N

=N o oA

ol NN
o

Nl NN

\CHIEN NS W le)

el )The description below represents the area of which polygon?

“one-half the product of its height and the sum of its bases”

F. rectangle G. parallelogram

H. trapezoid I. triangle

Q'Z.)What is the missing quantity in the double number line?

Ounces

0 150 ?

1 | 1 -

[ | |

1 ] 1

0 6 21

Bags
A. 25ounces B. 165 ounces
C. 525 ounces D. 600 ounces

Cumulative Practice
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~ Cumulative Practice

0‘(}7 What is the value of the expression
whena =6,b=25,and ¢ = 4?

8a —3c+5b

A 11 B. 53
D.

C. 61

107

bq . Point Pis plotted in the coordinate plane.

P E

What are the coordinates of point P?

E (-5, —3) G. (=5,3)
H. (=3, -5) I. (3,—5)

K‘ What is the value of a that makes the equation true?

at+6=18

70 . Which list of values is in order from least to greatest?

A. 2,|-3]||4| -6 B. —6,|4]2|-3|
C. —6,]-3]2|4] D. —6,2,|-3||4]|
7 | . What is the height of the parallelogram?
Area = 90 m?
6 meters
G. 12 meters h
H. 75 meters =
I. 1350 meters 15m
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7 2. Which property is illustrated by the statement?

4+6+n)=(4+6)+n

A. Associative Property of Addition B. Commutative Property of Addition
C. Associative Property of Multiplication ~ D. Distributive Property

1 3, Which number line shows the graph of x > 5?

F. <t |' f D e t : ——
1 2 3 4 5 6 7 8 9
G. - i 1 ) + t —
1 2 3 4 5 & 7 8 9
H, sy . t pritp—— i | —
1 2 3 4 5 § 7 8 9
l, ! l frm)——o| : F —
1 2 3 4 s & 7 8 g
74. Which number is the greatest?
7
A - B. 0.86
8
= D. 85%
25
7% What s the area of the shaded region?
4
F. 23 units? G. 40 units? 7 Ll "
H. 48 units® I. 60 units? B
8

S Write 23.5% as a decimal.

408 Chapter 8 Integers, Number Lines, and the Coordinate Plane



Part A Draw an x-axis and a y-axis of a coordinate plane. Then plot
and label the point (2, —3).

Part B Plot and label four points that are 3 units away from (2, —3).

7 u)What is the perimeter of the rectangle with the vertices shown below?
A(—4, —1),B(—4,7),C(1, 7), D(1, —1)

A. 8units B. 13 units

C. 26 units D. 40 units

47?‘,) Which value of y makes the equation true?
3
—-y=12
4y
1
A 9 B. 11-
4

C. 12% D. 16

Cumulative Practice
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Cumulative Practice

’] .. Which statement can be represented
by a negative integer?

length of 4
3in, 3in. 4% "ese hyeny
@ 6in @) Sin, 4in, Sin, Sin.»

A. The temperature rises 15 degrees.

B. Ahot-air balloon ascends 450 yards.
C. Youearn $50 completing chores.
D

A submarine submerges 260 feet.

‘The Mmeq
S0, you ¢ = can't be 6 of 2 :
| find N Use infelligans ;,: es inches,
: ; ’ at the answey js 1 o s:"'g to
- 3fhorgin~

751, - Which is the solution of the inequality%x < 6?

Fox<4 G.x<5§

H. x<6§ l. x<9

<;D The number of hours that each of six students spent reading last week is
shown in the bar graph.

Student

For the data in the bar graph, which measure is the least?

A. mean B. median

C. mode D. range
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g i . Which list of numbers is in order from least to greatest?

F. —5.41, -3.6, —3.2, —3.06, —1 G. —1,—3.06, —3.2, —3.6, —5.41
H. —5.41, -3.06,-3.2, -3.6, —1 l. —1,-3.6,-3.2, —3.06, —5.41

S; ’Z, What is the mean absolute deviation of the data shown in the dot plot,
rounded to the nearest tenth?

)
e e ]
® © o o o
® e o o o
® © & o oo
® © o o o o
i L | 1 ! ! | >
I I I 1 I i i
Tt 2 3 4 s 6
A. 14 B. 3
C. 32 D. 5

Xa . A family wants to buy tickets to a theme park. There are separate ticket
prices for adults and children.

Which expression represents the total cost (in dollars) for a adult tickets

and c child tickets?
F. 600(a + ¢) G. 50(a X ¢)
H. 30a + 20c . 30a X 20c

u 1he dot plot shows the leap distances (in feet) of a tree frog. How many leaps were recorded?
2

| Distance
T (feet)
8

- T 00 ®
N1T-6@
w000 e
H5 10060
V-0 0
ao+-90
~—+ e

452 Chapter 9 Statistical Measures



3 Lr What is the value of the expression when a = 6 and b = 14?
0.8a + 0.02b

A. 0.4828 B. 0.8814
C. 5.08 D. 164

" Which property was not used to simplify the expression?
b. property P

03Xy+yX07=yX03+yX0.7
=y X (0.3+0.7)
=yX1
=Y

F. Distributive Property
Associative Property of Addition
H. Multiplication Property of One

I. Commutative Property of Multiplication

g (‘, What are the coordinates of Point P?

- N W

A. (-3,-2) B. (3, —2)
C (—-2,-3) D. (—2,3)

V Create a data set with 5 numbers that has the following measures.

e ameanof7
o amedian of 9

Explain how you created your data set.

Cumulative Practice
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Cumulative Practice

Research scientists are measuring the numbers
of days lettuce seeds take to germinate. In a
study, 500 seeds were planted. Of these, 473
seeds germinated. The box-and-whisker plot
summarizes the numbers of days it took the
seeds to germinate. What can you conclude
from the box-and-whisker plot?

—E—

l | | 1 ! 1 e

B

|==:|:={:|:|1I’Days
1 2 3 4 5 6 7 8 9 1011 12 13 14

A. The median number of days for the
seeds to germinate is 12.

B. 50% of the seeds took more than
8 days to germinate.

C. 50% of the seeds took less than 5 days to germinate.

D. The median number of days for the seeds to germinate was 6.

Find the interquartile range of the data.

15 7 5 8 9 20 12 7 11 7 15

There are seven different integers in a set. When they are listed from least to
greatest, the middle integer is —1. Which statement below must be true?

A. There are three negative integers in the set.
B. There are three positive integers in the set.
C. There are four negative integers in the set.

D. The integer in the set after —1 is positive.

Cumulative Practice

497



4 0. What is the mean number of seats?

‘Seats m an SUV

Number of seats
~J

8 ﬂ‘;-ﬂg .;M% M.__

9 ﬁ_‘dﬁ :6%= 1 vehicle
F. 2.4 seats G. 5seats
H. 6.5seats l. 7seats

q |, OnWednesday, a town received 17 millimeters of rain. This was
x millimeters more rain than the town received on Tuesday. Which
expression represents the amount of rain, in millimeters, the town
received on Tuesday?

A 17x B. 17—x
C x+17 D. x—17

W One of the leaves is missing in the Stem | Leaf

7> stem-and-leaf plot. 113 4

v J
The median of the data set represented by 2 ~ )
the stem-and-leaf plot is 38. What is the Sff4577729
value of the missing leaf ? o114
51023
Key: 1|4 =14

q 2 . Which property is demonstrated by the equation?

723+ (y+277) =723 + (277 + y)

Associative Property of Addition

Commutative Property of Addition

T O -

Distributive Property

Addition Property of Zero

498 Chapter 10 Data Displays



q 3 . Astudent took five tests and had a mean score of 92. Her scores on the first
4 tests were 90, 96, 86, and 92. What was her score on the fifth test?

A. 92 B. 93

C. 96 D. 98

QAI the end of the school year, your teacher counted the number of
absences for each student. The results are shown in the histogram.
How many students had fewer than 10 absences?

4

Absences

S e T 2 S

Frequency

= o 53 i
04 59  10-14 15-19 20-24
Number of absences

‘\/ ) The ages of the 16 members of a camera club are listed below.

40, 22, 24, 58, 30, 31, 37, 25, 62, 40, 39, 37, 28, 28, 51, 44

Part A Order the ages from youngest to oldest.

Part B Find the median of the ages.

Part C Make a box-and-whisker plot for the ages.

0 10 20 30 40 50 60 70
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. Cumulative Practice

q s A football team gains 2 yards on the first play,
loses 5 yards on the second play, loses 3 yards

on the third play, and gains 4 yards on the fourth
play. What is the team’s total gain or loss?

A. again of 14 yards B. againof2yards

C. alossof2yards D. alossof 14 yards

q5, Which expression is not equal to 0?

FE.5-5 G. —7+7

H. 6 —(—6) . —8—(-8)

qlp . Whatis the value of the expression?

| -2 - (-25)]

A. —45 B. —0.5

C. 05 D. 45

% What is the value of the expression?

17 — (—8)
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q B - What is the value of the expression whena = 8, b = 3,and ¢ = 67

|a2—2ac+5b|

A. —65 B. —-17

C. 17 D. 65

é'. hat is the value of the expression?

—9.74 + (—2.23)

q C/‘ » Four friends are playing a game using the spinner
shown. Each friend starts with a score of 0 and then
spins four times. When you spin blue, you add the
number to your score. When you spin red, you
subtract the number from your score. The highest
score after four spins wins. Each friend's spins are
shown. Which spins belong to the winner?

F.6776

G. —4,-4,7, -5

H. 6, -5, —4,7
l. =5,6,-5,6

| O . What number belongs in the box to make the equation true?

3l +5§=Z><
3

2 2

A s B. 3

T 17 5

C. 1 D 13

e 2

{0 {. What s the value of the expression?
52 —12.25
0.05

k. —346 G. 0.59

H. 59 l. 59

544 Chapter A Adding and Subtracting Rational Numbers



\O 7-. Youleave school and walk 1.237 miles west. Your friend leaves school
and walks 0.56 mile east. How far apart are you and your friend?

A. 0.677 mile B. 0.69272 mile

C. 1.293 miles D. 1.797 miles

('03 » Which property does the equation represent?

—80 + 30 + (—30) = —80 + [30 + (—30)]

mn

Commutative Property of Addition

Associative Property of Addition

T

Additive Inverse Property

Addition Property of Zero

10 Lt« The values of which two points have the greatest sum?

R S T v
-—ie— i f I -e—i fo—to—i } I —
-3 -2 -1 0 1 2 3
A. Rand S B. Rand U
C. SandT D. Tand U

| 05 Which expression represents a negative value?

F2—|-7+3]| G. |-12+9]

H. |5]+|11] L |8—14]
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Cumulative Practice

| O . When José and Sean were each 5 years old,

, 1. ,
José was 15 inches taller than Sean. Then José

3. .
grew at an average rate of 22 inches per year until

he was 13 years old. José was 63 inches tall when
he was 13 years old. How tall was Sean when he
was 5 years old?

A. 39lin. B. 4211n.
2 2

D.

C. 44E in. 47Ein.
4 4

IO? What is the value of —5 +(~7)?
. —12

H 2 . 12

BEMat is the value of the expression?
9 9
4

iog What is the value of | a> — 2ac + 5b | whena = —2,b=3,andc¢c = —5?

16 8

A. —9 B. -1
C 1 D. 9

iD()[. Your friend evaluated the expression.
2—-3—(-5))=-5-(-5)
=—5+5

=0

What should your friend do to correct the error that he made?

n

Subtract 5 from —5 instead of adding.

Rewrite 2 — 3 as —1.

r o

Subtract —5 from 3 before subtracting 3 from 2.

Rewrite —5 + 5 as —10.
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(1 0’3 What is the value of — 1% - (—1%)?

A. -3 B. =
4 4
c $ D. 22
7 8
L ‘.) What is the value of the expression when g=-2,r=-12,ands = 8?

.

] ‘2,)Your friend evaluated an expression.

341 u
4 5 4 5
95 44
20 20
_ ~95+44
20
—139
T 20
= g
20

What should your friend do to correct the error that she made?

. 19 11 —19 + 11
A. Rewrite ——+ — g5 >~
4 5 4+5

B. Rewrite ~95 + 44 as —51.

.. —95+44 51
C. Rewrite == as —.

. 1
D. Rewrite —4; as ——3.
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i} 3 . Which expression has the greatest value whenx = —2 and y = —3?

. —xy G. xy
H x-—y L —x—y

| |‘+,, Which expression has a negative value when x = —4 and y = 2?
FE. —x+y G. y—x
H x-y l. —x—y

l “,5, What is the area of a triangle with a base of Z%inches and a

height of 2 inches?

A. 2tin? B. 2tin?
4 2

C. 4%'n.2 D. 5in?

i . . . . 2
| “g . Which decimal is equivalent to 5?

F. 0.2 G. 0.2
H. 0.29 . 45
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Test-Taking Strategy

Answe
I Easy Questiong First
XMimmies oo

N“,‘- What is the simplified form of the expression?

3.7x -5 —2.3x

—3.6x

6x—5

l4x—5

D. 37x—73

(C -Nhat s the value of the expression
% whenc¢=0andd = —6?

0 Q;.)What is the value of the expression?

—-38 — (—14)

H. 24 l. 52

] \C() The daily low temperatures for a week are shown.

20-= 20= 20= 20 202
15= 15= 15= 15= 15=
10= 10= 10= 103 10=
5= 5= 5= = 5=t
0= 0= 0= 0= 0=t

_S_EE _5_: _5_= __5._: —5—1|

OF . OF OF OF OF

What is the mean low temperature of the week?
A. —2°F B. 6°F

C. 8°F D. 10°F
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| Z0. You and a friend collect seashells on a beach. After minutes, you have
collected (11 + 2h) seashells and your friend has collected (5h —2)
seashells. How many total seashells have you and your friend collected?

F.7h+9 G. 3h—-13

H. 16k . 7h+13

D D ) ‘(Mﬁt the value of the expression?
'.'"’.'-‘v“_'=-;'-_'-'.'-.

A —-’i"—l’lil’—l"—z’ B —l’-—l"él’—’il,)—Z'
4 218 4 8 2 4|8 4 8
SR A I H S ST
8 4 2 4 4 2 418 8
‘ 12 ')Which number is equivalent to the expression shown?
ol ( _8§)
4 8
s 1
F. —10= G. —10-
8 3
H. 62 L 62
8 2
{ 13 ‘)What is the simplified form of the expression?
7x — 2(3x +6)
A. 15x+ 30 B. x—12
C. 13x+12 D. —11x
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' A q ,) Which expression is not equivalent to the expression?

72m — 60

F. 6(12m — 10) G. 4(18m — 15)

H. 12m . 12(6m —5)

E E. Youwantto buy a bicycle with your friend. You have $43.50 saved
itz %) and plan to save an additional $7.25 every week. Your friend has
$24.50 saved and plans to save an additional $8.75 every week.

Part A Simplify and interpret an expression that represents the
amount of money you and your friend save after w weeks.

Part B After 10 weeks, you and your friend use all of the money and
buy the bike. How much does the bike cost? Who pays more
towards the cost of the bike? Explain your reasoning.

125) Your friend evaluated 3 + x> + ywhenx = —2 and y = 4.

Z+x2+ty=3+(-22)+4

=3—-4+4

What should your friend do to correct his error?
A. Divide 3 by 4 before subtracting.

B. Square —2, then divide.

C. Divide —2 by 4, then square.

D. Subtract 4 from 3 before dividing.
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i 2(,.) The school store sells 4 pencils for $0.80.
What is the unit cost of a pencil?

What is ot
+ .
o dog Years?he fatio of human Years

DI ® .

A. $0.20 B. $0.80

C. $3.20 D. $5.00

\ka)What is the simplified form of the expression?

3x — (2x —5)

F x—5 G. x+5

H. 5x—5 . —x—5

|22 ) Which fraction is equivalent to —1.25?

A —12% B. —1+
2 4

c. 12 D. 1%
1000 4

\’L(i) What inequality is represented by the graph?

4! | 1 I. : 1 | | $ : :r
-4 -3 -2 - 0 1 2 3 4 5 6
F x—3<7 G. x+6<10
. x—8> —4

H —-5+x<—-1
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—_ /
ce vemeens ——
: ]

F

——— —
-5 -4 -3 -2 -1 0 1 2 3 5
— -
-5 -4 -3 -2 -1 0 1 2 3 5
—_— —
-5 -4 -3 -2 -1 0 1 2 3 5
—_— -
-5 -4 -3 -2 -1 0 1 2 3 5

674 Chapter D

Ratios and Proportions




—> 3 L) To begin a board game, you place a playing piece at START. On your first three
turns, you move ahead 8 spaces, move back 3 spaces, and then move ahead
2 spaces. How many spaces are you from START?

F. 2 G. 3
H. 7 l. 13
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‘5?,) A movie theater offers 30% off the price of a
movie ticket to students from your schocl.
The regular price of a movie ticket is $8.50. What
is the discounted price that you pay for a ticket?

A. $2.55 B. $5.50

C. $5.95 D. $8.20

What is the least value of x for which the

€adin -
g :H Choices before &‘
an really pay o> Wering
\ s .
- -
T~
| 36) Which list of numbers is in order from least to greatest?
F. 0.8, =, 70%, 0.09 G. 0.09, —:— 0.8, 70%
5 5
H. 7 70%, 0.8, 0.09 I. 0.0, p 70%, 0.8
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H_)J:}’ What is the value of 82 + (—%)?

R

|54 A softball team is ordering uniforms. Each player receives one of each
of the items shown in the table.

ltem Jersey Pants Hat Socks
Price (dollars) x 15.99 4.88 3.99

Which expression represents the total cost (in dollars) when there are
15 players on the team?

F. x+ 2486 G. 15x+ 372.90

H. x+372.90 l. x+387.90
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| @5 Your friend solves the equation. What should your friend do to correct the error

that he made?
—-3(2+w)=-45
2+w=-15
w=-—17
A. Multiply —45 by —3.
B. Add 3to —45.
C. Add2to —15.
D. Divide —45 by —3.

Part A

PartB

IIIIIIIIWABE
- STORE

Ladders: -/ -
$350/ea.

Sales tax: 6%
of cost of ladder |

your work and explain your reasoning.

| Ladder $320

il Sales tax: 6%
il of cost of ladder /7

)| Shipping & handiing:

i Y
I

afcost of ladder

You are comparing the costs of a certain model of ladder at a hardware store and
at an online store.

What is the total cost of buying the ladder at each of the stores? Show

Suppose that the hardware store is offering 10% off the price of the

ladder and that the online store is offering free shipping and handling.
Which store offers the lower total cost for the ladder? by how much?

Show your work and explain your reasoning.

~' % a, Which graph represents the inequality =5 — 3x = —11.

F.

H.

-

e e
~4-3-2-1 0 1 2 3 45

&+

<t

w g
[
N
|
ol S
o
-
]
w

prttp————> G. <

i i I
-4 -3 -2 -1

|

Y

&
e
-4 -3 -2

|
g
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